Olympiad 2019
Class 6

Important Instructions:

All questions carry equal weightage.
10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.
Please ensure that this question paper has 50 questions. It is divided into the following
sections —
For class 1st to 5th: Mathematics, Science, English and General Knowledge
For class 6th to 10th: Mathematics, English, Science, General Knowledge and Logical
Reasoning
e Every question has one correct answer.
e Please read the instructions for answering given on the OMR sheet.
Candidates must submit a completely filled OMR sheet before leaving the hall.
e There is no negative marking.

Section A— Mathematics

1. The product of place values of two 3°s in 253893 is

253893 T 3 Ha IR IHISMICR:

A. 90,000
B. 9,000
C. 30,000
D. 3,000

2. Which of the following numbers is incorrect in Roman numeral system?

NN SV SN S,

A. MMLLX

B. MMMLX

C. DCCXL

D. DCCCLXXI

3. What is the least number to be subtracted from 1045 to get a number exactly divisible by 227

1045 &Y 22 VfTHITTH BTSN TR ?
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4. John has stamps from different countries. 1/3rd of them are India stamps. If he has 36 Indian
stamps, how many stamps does he have in total?

P U AT B g [ST8Y 1/ 3rd HRAPLEHE [TRITHUN 36 HRAIILEHR,
AAH UG Al A g?

A. 12
B. 108
C. 36
D. 48

5. What value of "x" makes the given equation true?

"y BT T CUTTTH BRI g STdTg?
-18 + (-6x) =0

A. -3
B.3
C.2
D.-2
6. The lowest common multiple of 10, 15 and 20 is x. The value of x is

10, 15 3R 20 HITYTATHITH x § | x B

A. 20
B. 30
C. 40
D. 60

7. Which of the following statement is correct?

e INIRERE R EARRICAIE R

ab+c

A. =a+c
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8. The age of Tanu is 20 years and the age of Mani is 36 years. If the ratio of the age of Mani to
the age of Beena is 3: 2, then the ratio of the age of Tanu to the age of Beena is:

AT 13T 20 ATAMRAVHISH 36 TS [ATGHOTD ST AR HID S HBISHTI 3: 2 3,
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9. Evaluate a? + (—ab?) —a?b?ifa=-2andb=3.

i a=-2 3R b = 3, A BB a? + (—ab?) — a?bh?

A. 14
B.-14
C.-50
D. 44

10. If the perimeter of a square is 76 cm, then the area of the square will be:

IfRUBTIBIURI 76 THE, NIV IBIETH AR

A. 152 cm?
B. 304 cm?
C. 361 cm?
D. 1444 cm?

Section B — English

11. Which of the following isthe misspelt word?

A. Grief
B. Except
C. Greatful



D. Gourd

12. My grandmother told me a fairy

A. tale
B. tail
C. story
D. table

13. lamgoing __ buy a dress.

A. for
B. of
C.in
D. to

14. Choose the part of the sentence that has an error:

| saw you in the park yesterday. You were sitting on the grass and read a book.
A. | saw you in the park yesterday.

B. You were sitting on the grass

C. read a book

D. no error

15. Choose the antonym of “Improve”.

A. Enhance
B. Descend
C. Advance
D. Revamp

16. The historic speech on September 11, 1893 by Swami Vivekananda.

A. is given
B. given

C. gave

D. was given

17. The school bell rings ___ 8:00 a.m.

A. by
B. at



C.on
D. till

18. Which of the following forms a meaningful sentence after rearranging words?

A. working/l/May/project/have/on/since/this/been
B. working/l/May/project/on/since/this/been

C. working/lI/May/project/have/on/this/been

D. working/I/May/project/have/since/this/been

19. The of natural resources is important because of our dependence on them.

A. conversation
B. conversion

C. conservation
D. consumption

20. Choose the synonym of “Enormous”.

A. Miniscule
B. Vast
C. Tiny
D. Miniature

Section C — Science

21. Neutral insulator P is rubbed with neutral insulator Q. Insulator P becomes positively charged
after rubbing. Which of the following statements is correct?

A. P loses some electrons to insulator Q.
B. Q loses some electrons to insulator P.
C. P gains positive charge from insulator Q.
D. Q gains positive charge from insulator P.

dc faare® P &l dex faude®d Q FURRITSTSITS I3-gaex P
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A. P $BZAFRH Q ledis |
B. Q $3SdCH P Pladle |
C. P, Q QYA g |




D. Q, P YUY ddTe |

22. Rotation of Earth on its axis is an example of which type of motion?

A. Rectilinear motion
B. Circular motion

C. Rotational motion
D. Oscillatory motion

T NRIIR YA ST G TTHRB NI IBTIDH IGTER VIR ?

A feefert-raReia

B. g
c. guiffa
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23. What is the name of the joint which exists between our shoulder and arm?

A. Hinge joint
B. Pivot joint
C. Ball and socket joint
D. Fixed joint

Y T A1 FaTe Sl §ART S 3R 98 & & AlN[G 87

A. Tgorsfe

B. RIS

C. PgPH-IATHY
D.

24. 1 kg of iron occupies less space compared to 1 kg of sponge because:

A. Iron has less density than sponge.

B. Iron and sponge have equal densities.

C. Iron has more density than sponge.

D. Weight of iron per unit volume is less than that of sponge.
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25. For strong bones and teeth we need
A. Vitamin D
B. Vitamin E

C. Vitamin A
D. Vitamin K

26. Silk is a

A. Cellulose fibre
B. Protein fibre
C. Fat fibre

D. Mineral fibre

X TP g
A. SIPHINEIER

B.

C. IUTHISER

D. FYhIEaR

27. The middle region of a bar magnet is:

A. anorth pole

B. a north seeking pole
C. weekly magnetized
D. magnetized

UhaRIYTPHHIETT:

A. THIWIYd

B. T3 TRIYdGea]

C.
D. T




28. Which of the following has reddish-brown colour?

A. Gold
B. Copper
C. Iron

D. Brass

PR P RITETE- AR12?

A, GHT
B. didl

C. digl
D. Uida

29. If boiled milk is allowed to cool and is then poured on a piece of cloth, we find that cream
(malai) is left behind on cloth. This process of separating cream from milk is

A. filtration

B. decantation
C. sedimentation
D. churning

U TAGUGHPIS ST ATTT RGBT H g SIS, AGHUIe bsh H (FeTTS)
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A. e
B. R
C. 34l
D. HYq

30. The germination of a seed is

A. a physical, reversible, desirable change in which energy is produced
B. a fast, chemical reaction in which energy is released

C. aslow irreversible, desirable, chemical change

D. a fast, irreversible, undesirable chemical change

a
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A. T Ui, ufdad!, Ire-uRadaeraa S ulipredieTs die
B. Ushdyl, I ufafhaioaaSwieede

C. T HiHreuiad-ty, a1, TarfAsulkady

D. Tdh e, AURGdHI, G- RRIE™ G URad




Section D — General Knowledge

31. Which country has won the most Cricket World Cups?

A. India

B. England
C.Sri Lanka
D. Australia

foraeRHaadsfiaihaciayduside?

A. HRd
B. 3TdlS
C. giciat
D. ficfer

32. Where was India’s first nuclear test conducted?

A. Banglore
B. Pokhran
C. Guijarat
D.Hyderabad

YRADHTIG ATURATIUR & UTEH G T ATTATT?

A. FTTAR
B. URaRUT

C. ToRTd
D. ge1dIE

33. Who composed the national anthem of Bangladesh?

A. Mohammad Igbal

B.Bankim Chandra Chattopadhyay
C.GaganHarkara

D. Rabindranath Tagore

O
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A. AigHcsHad
B. SfhHdgag U
C. THEIBRI




D. IAdGATYIR

34. On which day the 20" anniversary of Kargil Vijay Diwas was observed across India?

HRAHASGRATAISafeaqe! 20 davisfeaieTamsts?

A. 25" July
B. 26" July
C. 22" June
D. 20" July

35. Which Indian batsman became the first in the world to score 5 centuries in a World Cup
tournament?

A. Rohit Sharma
B. ViratKohli

C. M.S. Dhoni

D. ShikharDhawan
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36. Vijender Singh is associated with which sport?

A. Cricket
B. Shooting
C. Boxing
D. Football

SR SNSRI
A. foode
B. T
C. JifaT
D. Besid

37. Who was the first woman Governor of an Indian State?



A. Sarojini Naidu
B. Indira Gandhi
C. PratibhaPatil
D. Sheila Dixit

YRR D UgaH g ARTSI T F12t?

A. RISHAE
B. Sfa=mmiet

c. ufaymarfed
D. Rftardiféra

38. Who is the first Indian women Olympic Medal winner?

A. SainaNehwal

B. Sakshi Malik

C. KarnamMalleshwari
D. SaniaMirza

EERIRIRGIR R ERIE SR G At RIEAR Y

A. Fi3AHgaTd
B. Trefiafere
C. puiHARIYH
D. gt

39. In which year the Rabindranath Tagore won the ‘Nobel Prize in Literature’?
AEATICTIRATHITHH AR IH AN TREB R’ SidT?

A. 1918
B. 1913
C. 1915
D. 1920

40. Which is the highest civilian award of the Republic of India?

A. The Padma Shri

B. The Padma Bhushan

C. The Padma Vibhushan
D. The Bharat Ratna award

YRATUR SIS TG TR B YRGB R TG



A. eIt

B. T4
C. TIfayyor
D. YRad

Section E — Logical Reasoning

41. Choose the correct option:

If Taj Mahal : India, then Pyramid : ?
A. The United States of America

B. Egypt
C. London

D. Paris

Telfddb el

RASHEA: YR, RS2
A. TYHRRITSHARDT

B. o’

C.dcd
D. iy

42. Choose the correct option:

Shimla : Hill:: Udaipur : ?
A. Beach

B. Mountain

C. Plateau

D. Lake

ﬂ@ﬁm?ﬁ:
RreeT: ugrsl:: Jedyr:?

A. JHEAC
B. Udd

C. U8R
D. 3



43. Choose the odd one out:

A. 23
B. 19
C.43
D. 56

ICLEEGE
A. 23
B. 19

C.43
D. 56

44. Preeti is 16 years old. Preeti’s father is 2 years older than her mother. Preeti’s mother is 4
years older than 3 times Preeti’s age. What is the age of Preeti’s father?

Hfd® 3y 16 TTds IS RAETs N 2 Taaes IMfaemifdasyud 3 TN 4
RINCEIPIRERRICAREE IR,

A. 52 years
B. 50 years
C. 56 years
D. 54 years

45. Choose the correct option:




D. None of these

ﬂ%ﬁmﬂe{':

D. ZTHI® s8]

46. How many meaningful english words can be formed with the letters RABG using each letter
only once in each word?

by It by by iy
D RoqHD ITUDHIRUID HERDPISUINTHhIn RABG
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47. Which number will replace the question mark in the given figure?

IS iU RIe® o Ted Y RRaATe T T?
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A. 10
B. 16
C.18
D. 34
48. If “+7 1s “x7, “-*is “+7, “x” is “+” and “+” is “-*, then solve the following:

25x5-7+3+4

A. 22

B. 20

C.32

D. Cannot be determined

[N NIV €C 9% ¢¢ e 9 ¢ .Y €69 ¢¢c .
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25x5-7+3+4

A. 22
B. 20
C.32

D. FRufagifeasmasde

49. Arrange the given words in the sequence in which they occur in the dictionary and choose the
correct sequence.
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t 2. Access 3. Achieve 4. Ache 5. Absorb
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50. If English alphabets are written in the reverse order, what will be the 9™ letter on the left of
the 12" letter from the right end?

e 33 IERI e HHATIRETUG, dicieIBIRY 12 d3HRPETSINR 9 TGRS I?
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